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1) flegeu eumHwmev 16 eunmaisev  aflEHHD
GODSSUURL QuUIes @B QuNEhemENSSHeo
snbonSHifl Qunpermzny Hlspey Hlaob?

1) UeTTLIL PSS 1SS S &0

2) QuMBETSTT eueTi&d) HSH S G0

3) Caemeusst HS&If &G

4) LesrTei&sD S (HLUILML Ig6d @(HHELW

A 1&2 B. 2&3

C.3&4 D.1,2&3
Which of the following economic events will occur
in an economy when the repo rate is decreased by
RBI?

1) Money supply increases

2) Economic growth increases

3) Demand is accelerated

4) Inflation is controlled

A 1&2 B. 2&3

C.3&4 D.1,2&3

2) @@ QUNEHEMEMSSH60 Fa.6l S1H&iflé G0 CLUNE)
aflenev SiHsfliugib, eflemsy fHsifleE0LEUNG)
ga6ll SIHEFUUGID eTeusunm) SienLpssLL[HD?

A. uewTelss GevisE[h B. Lettel&s Q6086 &

C. uetrTelss auifl D. uestiaiss spme

The economic situation in which the wages gets
increased because of the prices and price gets
increased because of the wages is known as
A. Inflation Accounting

B. Inflation Targeting

C. Inflation Tax

D. Inflation Spiral

3) AmiBns Gswesvun@semen QUNIsSS &iflwmest
sapenp CHIBABE.

1) eugsL L6y, M 2MlEh&Fev WHMID &Ly eTeTLGS
AmiBy 2 pHusHuiled flwes euflens op@Ew.

2) &Sflwunligesllett stetenId HIFlYLIQUNHET HeOrF

eueTiEFlems MHMESTEL 2 6ToTLMGLL. QH60T 66y

Learning Leads To Ruling

cLpemerT LoHMILD Smibrsmigeneo Q(LHIG
u@SsLL(LD.

A 1w (o B. 2w (hd

C.1&2 D. s1gla|b Qevemnev

Choose correct statements regarding functions of
kidney.
1) Filtration, Reabsorption and Secretion is the
correct sequence of urine formation
2) Creatinine is the waste product closely
regulated by the brain and kidneys and is
the end product of the metabolism of

muscle.
A. lonly B. 2 only
C.1&2 D. Neither

4) Nesteu(pid sammiserflev Heumnesia) 618)?

A, ungnEbd Sievp  Geuliublensoullsy  Biowons

QHSGLW.

B. ungn&i Wl6TEM&ens H6o1(S) SLSSHID FalgWST(GLD.

C. sesflob et6TLIg @UIHEmsUT6L HenL 588 Falplig).

Qeaunmlell(BHg 2CneEsHems QeVMLSTLONS H6V6VE)

Qumpstsy fFHwng Ufs0s(06s (Wipwngi.

D. sng) elettugl UMeODUIl6L 26mMBE SHTevorLiL(HLD.

8] 2188 s6vflo HetTemIoW]L 65T SHMEsoTLILI(HLD. Q&60TTEv

8560 pH!

5080 ES (Wigwb.

Choose the wrong statement among the following?

A. Mercury is aliquid at room temperature

B. Mercury is a good conductor of heat

C. Mineral is naturally occurring substance
from which metal may or may not be
extracted profitably or economically

D. Ore is rocky material which contains
sufficient quantity of mineral so that metal

can be extracted profitably
5) GBYWNs HMVa(HHGL SenwFFiserflesr

2 Geuns5608 QevmusILONS

GuasEw Qe Bu mHGung Heveyd 2mey
Lilebreu(mHLd 6TH S gL

Bljeudlssnu@Emg)?

N ifleysemmev
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A.x618| H(HSHSE FLLID
B.4geug) H(r55& &L LD
C.446u8) S(HS55& FLLID

D.q16ug) S(H&5& &L LD

The present relationship between the President
and the council of ministers is governed by the
provisionsof ____.

A. 42" Amendment Act

B. 48" Amendment Act

C. 44™ Amendment Act

D. 41 Amendment Act

6) 1565 &pmhHAulest Fflwne unengenw CHIHOSHE -

1) susvg o4 flEHleT

2) @Lgl opfsdlem

3) suevg) Qeuestiifléleir

4) @1 g QeusstL &6

5) miennuiyso

A. 1-3-5-2-4

B. 1-2-5-3-4

C. 2-3-1-4-5

D. 3-4-5-1-2

Which of the following series represents the
correct path of blood circulation?
1) Right atrium

2) Left atrium

3) Right ventricle

4) Left ventricle

5) Lungs

A. 1-3-5-2-4

B. 1-2-5-3-4

C. 2-3-1-4-5

D. 3-4-5-1-2

7 BrgLanTIEE eGamawnss  Hspbs
Hlemevtey& Flevtevtid 6157

A. 0U5MYm &6v6venm

B. Gund) @

C. amrLomuesT &606V6Mm

D. Qip108-2 &-Q&H6m6e0IT SH606V60M

Which monument is the precursor to the Taj
Mahal?

Learning Leads To Ruling
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The Safdarjang Tomb

Moti Masjid

Humayun's Tomb

Itmad-ud-daula Tomb

8) MHfsemen HylL euraflasst wOHMID QSN
Bimeussiigemmey  QeueflufiLiu@y  (GenmHSsTe0

oowp

UNGISTIL USSITEISET sTeneu?

A. &([HaL6ev NEGISET B. suestils smeiaen

C. euewslla 1&g 56 D. smeuliL] &mestnilSLp&6iT

Which one of the following is the short term
security bonds issued by the Banks and other
financial institutions to generate funds?

A. Treasury Bills

B. Commercial papers

C. Commercial bills

D. Certificate of deposits

9) uewil QUEBSHSD FDUBHSWLNSE SPSHSHTEYD
Famnilev eTemeu FiflwneTeneu 6v60?

1) uesst @BLIL & &EHLELNG Liestll QL(H&ED

1S fESmg|.

2) uesst @BUL AHSBIfsE0LEUNG Lewstll QL(hEHELD
(GEIEAT:R

3) uesst LY (GHeOOWbLGUNE UestTl QU(HESSLD
EYE L% 301 )

4) uesst @BLY GeOnWDGUTE UestTl QU(HESLD
GODEDS|.

A 1&3 B.1&4

C.L2&4 D. 2,3&4

Read the following statements with respect to
Money Multiplier and chose the inappropriate
statement.
1) The money Multiplier increases when the
reserve increases
2) The money Multiplier decreases when the
reserve increases
3) The money Multiplier increases when the
reserve decreases
4) The money Multiplier decreases when the
reserve decreases
A 1&3 B.1&4
C.1,2&4 D. 2,3&4
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10) eub@s LOMBMD 6T6dTM (PR&HED (PBH6EOT(LPSHESI6v

6T S @nHw Gumym_L 5 HletTCLING)
6JHMISC S meTemILLL &7
A. 5854

B. @5 gism1puimenio
C. L miiyy
D. @eusitensmuGest GeusrflGuim)

The Slogan of Vande Materam was first adopted
_____ movement.

A. Swadeshi

B. Non-cooperation

C. Civil Disobedience

D. Quit India

11) SpsaesorLaupmieT Heupneens CaiH0S 6.

1) usemio evev alflemerey etestLig) Ll Qeuerflufi(hid
2w Semevey SHflwEssems  suerfloessievld
2 Ml(EpaeuSTeL CHMesTNEUST(SLD.

2) smjueT emL SpHFDH, WHBHET, emBLTEN
SpGHEFHHET [HESIIL SHMVD GUMIPL LIGKEDL E606v
QUMLSGHETT S (GLD.
A 1ol @w
C.1&2

Chose the correct statement.

1) The Green house effect is the result of the
atmosphere’s absorption of long-wave
radiation emitted by earth

2) Co2, Methane and Nitrous oxides are all
along lived green house house

A. lonly B. 2 only
C.1&2 D. Neither

12) st 5 S0 BaTey eflemswney euBeug) 61517
A. QEIG L6TenSHSME(E)

B. 2wl (b
D. sigla|b @svemev

B. Ulemeyl1 LIeTen& s

C. V- auig6u LI6TeNSSME(E

D. U- augeu LI6TeNSSNES)

Which of the following is formed due to tectonic
forces?

A. Hanging Valley
B. Rift Valley

Learning Leads To Ruling
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C. V- Shaped valley

D. U- Shaped valley
13) S1paevuTL UMM 6T EIR LA TN 149 1 (o))
Qeneruis g QaneeniuLng &858 SN LGS 615)?
A. fAbg)
C. opeuns
Which of the following Princely state was not
annexed by British?

A. Sind

B. Gwalior

C. Awadh

D. Satara

14) QanevevriulL s5HULLHSE T@S5SISHTL®H 61517

B. @sumeSlwiy
D. ggmyn

A. smeonm (KL W(BHHS)

B. Ulfgf) sBLIL w(®BHS)

C. iy 5EUL LEHHBS)

D. i UL BB
Example for killed vaccine is
A. Cholera vaccine

B. BCGvaccine

C. DPT vaccine
D. TT vaccine

15) SILSMOT LTem6VEUETSEMN(E S6MEEuTWING LIMULD
@efly BGym_L1b e15?

A. Ggeomifl BGIMLLLD

B. Qustr@eom BArmLLLD

C. amw@umsvL_ BGFMLLLD

D. eomtugLmy BGymLLLD

Which cold current flows parallel to the Atacama
Desert?

A. Canary Current

B. Bengula Current

C. Humboldt Current

D. Labrador Current

16) QuUNBSE)5.
a) GaLl el — 1) amflwimestm
b) Gz mevailym — 2) pmegervgmest
c) snellunisest — 3) fbg
d) uestmeuell — 4) (HKITS
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"bOJ[\)
l\)l—lp—l

4
2
3

owp
L~ JY)

D.2 4 2 3
Match the following.
a) Kot Diji — 1) Haryana
b) Dholavira — 2) Rajasthan
¢) Kalibangan - 3) Sind
d) Banawali — 4) Gujarat
21

17) Li6woT ol (F5CBMGHSH FDLIHSLONS
SssetrLaumfled  eTemel M2  etetTm)
Ae&&ELILGHEINGI?

1) LU&EEHSH60 2 6iT6r LI6EBTLD

2) w&&6iMLLD 2 6iT6rT LiwsTD

3) auraidluflev 2 6o Czemeu sveuliLy (B

4) fl&geu euraiflullev 2 6iter surbidserflest smeuliny Hl&)

A 1&2 B.1,2&3

C. 3&4 D. 2&3

In the context of Monetary aggregates which

among the following are the components of M2?
1) Currency in circulation

2) Currency with public
3) Demand Deposits with Banking System

4) Bankers deposit with RBI
A 1&2 B.1,2&3

C. 3&4 D. 2&3
18) Uletreumid @emesvrssempel, 6Tbhs Qenevor, siyLiLfl
LDMHMILD S| S60T Liewsfl & (e L6oT gfluns

QunpSsLILLailevensv?

A, smevdlLnmesflest — 155 SMevAlWID  iememen
&DDSE0

B. umm emaymi® - @nsHs smeodwbd  Sierey
215 5ifH560

C. GenuwGLmevLmgssT - (5HEHSHSSMET  SiILIenL

5(bS5H60

Learning Leads To Ruling
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D. QuevBLmesflstr - Qaev euemiFHlems LoMHM

6155608 QUG LG5SIS60
In which of the following pairs, the hormone of
endocrine glands and its primary action is

mismatched?
A. Calcitonin — Lowers the blood calcium levels

B. Parathyroid — Raises blood calcium levels
C. Somatostatin — Inhibits release of glucagon
D. Melatonin — Regulates the rate of cellular

metabolism
19) oHlwevenolilg sLLGSletT LGS V 1560 66T
QsmLjyenLwg)?
1) emwow Hljeunsid
2) UMmEBLO6STHLD
3) 2 5B HlwstTod WHMID 2 WHBSHoesTHLD
4) @pHw sesIHSMLe WOHMID SHesslsens glemm

H6516V6U[]
A . 1,2&3 B. 2,3&4
C.1,28&4 D.1,3&4

Part V of the constitution deals with _____.
1) Union executive
2) Parliament
3) Supreme court and High court
4) Comptroller and Auditor General
A 1,28&3 B. 2,3&4
C.1,2&4 D. 1,3&4
20) Jesteupd eflemsser 618 AHs  Hembd (
Qaneneve) ) 2 6mLW aflengsein?
1) S1em168(H eflens
2) hlemeviilest afleng
3) snhsellens
4) yauSiLiy ellens
A 1,28&3 B. 2,3&4
C. 1,384 D.1,2,3&4
Which among the following forces are long
distance forces?
1) Nuclear force
2) Electrostatic force
3) Magnetic force

4) Gravitation force

A 1,28&3 B. 2,3&4
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C.1,3&4 D.1,23&4
21) SpssaviLaupmieT  Heumnest  Famenyn
CaiBes6:

1) QeuliLgsmev @em@ L QBSI (BHMmIsES LIsVLIgUING60
epeuld QUPULHEIMSG. @F60T L6 UigWiMesis &8
ausylliflemewotiiined  LilemesotdsLUL (Heieng).  Qems
ererflg s mIsHE QFWwIW (Lpipub.

2) QeuliugsTeL QoG CBEIY GHODHS CLpevdHFam)
eTemL WD HMID GeulILSSTe @MIGLD CBSIS iHs
CLpeESa M| 6TemL LD ©&TessT(h6erg).

A 1w (Ho B. 2wl (hbd
C.1&2 D. e1gi6|b Gevemev
Find out the incorrect statement.

1) Thermoplastics prepared by condensation
Polymerisation. Various polymer chains are
held together by strong covalent bond. They
can be remoulded.

2) Thermoplastic are low molecular weight and
thermosetting plastics are high molecular
weight.

A. lonly B. 2 only
C.1&2 D. Neither
22) S1pssevesummien sneflgngyme @uHmLLLNg
HIT6L 6157

1) f&g gbamnybd

2) GuagMsbd

3) @(&e6uLL&LD

4) &5SMEg eI
A. 1wl @w B. 4w (B
C. 2&3 D.1&4
Which among the following books are not
authored by Kalidasa?

1) Ritusamhara

2) Meghadootam

3) Raghuvamsham

4) Kiratarjuniya
A. lonly B. 4 only
C. 2&3 D.1&4

Learning Leads To Ruling
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23) Biflev oiFHswNs HHewIILGL MBLGTLIg6sTTEL

werflpemis eT65T60T 6U6mIS: WLIMETT Grpmul
2 (Heunlmg)?

A. Als8lev QF6v Sievflslwim

B. siesflslwm

C. pdHw suwdlev sievsflslwim
D. QuLlanGumgGstmilssidlwm

Excessive presence of nitrate in water leads to a
disease inman called ____.

A. Sickle cell Anaemia

B. Anaemia

C. Penicious Anaemia

D. Methemoglobinemia

24) @pHwnelflev Campmiall&EasUULL (PH6v eurkis
61517

A. QeoTyed LIS pt1 @rb&lwim

B. UMMais Opsll He0&ESHST

C. ummis oyl umbGu

D. unmis Syl @rb&I6M0Smest

Which Bank was first started in India?

A. General Bank of India

B. Bank of Calcutta

C. Bank of Bombay
D. Bank of Hindustan

25) omblevrkiss(eTh & QenGu BEHBT
Higgfleneniasemsanes Sial ubnfl GUILLIHWD Fr58)
61517
A. 5158 260 B. #5551 261
C. 57835 262 D. #1564 263
Adjudication of Inter-state river water disputes is
mentioned under ____.
A. Article 260
B. Article 261
C. Article 262
D. Article 263
26) sngmeumy Gumflev FevsremLufllLeufseT wmy
wmj?
A. Ifs&allnnes whmib (peng Camil
B. Qgwisnglrest bHmIb (pasog Gsfl
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C. umuy wHmMIb Grgranlb Geomgy

D. umuij wHmD [ressTT &rhigm

Battle of Chandawar was fought between
A. Prithviraj and Mohammad Ghori

B. Jaichandra and Mohammad Ghori

C. Babar and Ibrahim Lodi
D. Babar and Ranasanga

27) wHHEH HEHLUDLCUNEH iFH Seneodins

sailipeug) eTIQUIN(SI?

A 2 g&&0D (PseSled Hevruiles @mHg allevELd

Gumg)

B. Qeuefl s&s70 (Wselled seouilsdy QBB

afleugbGug|

C. Quesoi() s&sN(PL Q6tTTE SHemyulley QHHS

aflsub Gung)

D. 2 550D 6vevg Oeusfl F&&MD (WeH6edlev

seonuiled @Hgl allevEd Qumesg

The car sometimes overturns while taking a turn.

When it overturns, it is

A. The inner wheel which leaves the ground
first

B. The outer wheel which leaves the ground
first

C. Both the wheel leave the ground
simultaneously

D. Either inner wheel or the outer wheel leaves

the ground
28) @ OQungpeflsst HensGousionews iH6oT

Yhamsw wH IG5
(GOMSEHILLLTY AHUGUNHeflest Quss b HMev

unSlwins

6Th s ienaili(g GHsnmuib?

A. 1/3 B. 1/4

C. 1/2 D. 1/5

When the velocity of a body is reduced to half
its initial value, then the kinetic energy of the

body is reduced by ____ it's value.
A.1/3 B. 1/4
C. 1/2 D. 1/5

Learning Leads To Ruling

Prepared By www.winmeen.com

29) ummepwetny 2 MILLflEMEEHSEE Qenesuns
2 eitem FimLiy 2 flenoselt WHMID LTGISIILSET QUM
2 iflemo Qubmeur wimj?

A. GlWwnss Seneveul

B. @bslw semevemn CHIH60 4em6soTLIT

C. @BSHW o178 Semevenld aUPSSN(EHT

D. wsHw Sigs uessilwmeny CgieumenessTsSHlest
H65I16V6U[]

Who enjoys all the privileges and immunities that
are available to a member of parliament in
Parliament?

A. President

B. Chief Election Commissioner of India

C. Attorney General of India

D. Chairman of UPSC

30) SpssevTLeubmie
CaBes (0.
A. @uow wenevulled 2 (HEUMEGL SpMISHET EUDHDTS

saumnesT  Famenm

SHMIGET S (GLD.

B. @ow weneouiled 2 (Heum@Gn SpmiseT Guiflw

6UEBTTL 6V QL 6VLMBHEHENEIT 2 (TH6U S (&S 65TM6UT.

C. syrestl @pm1 2 6MBIL(H CUpHTENISHE 6(H 2 SHTT6TILD

(G LD.

D. smilgunewsfl opmi sSMIL6dT  WemevLiLi@GSluilev

2 (HeUNSImg.

Choose the incorrect statement.

A. Himalayan rivers are perennial in nature

B. Himalayan rivers forms large deltas

C. Luniriver is example for Inland drainage

D. Thamiraparani river originates from

cardamom hills

31) Sipssevuraummis siflwnest Famenm CaIHOZHE.
1) Gooms SpWssTeuUNEsE (PS6tTPSHedled 1971 6b

S&MITeBleTTalley DeMEHSLILLL ).

2) Goomd HUEST FLLGEHemesT Q60 (PH6dT 1970

(PS6S160 ele& mBlevd @wiHMlwg|.
A. 1oL @0 B. 2 L [H
C.1&2 D. e1g16b Qevemr60
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Choose the correct statement.
1) Maharashtra is the first state to establish

Lokayukta in 1971
2) Odishais the first state to enact Lokayukta
Actin 1970
A. lonly B. 2 only
C.1&2 D. Neither
32) QU5 sIs.

a) (psevmd U mpnh — 1) emeuapel)

b) @uesorLnd L& LABIEH — 2) SHTeipLsy

C) eypstTmd L& mm{h — 3) Tregdliflsn

d) mrest&mDd LSS wrmmlh — 4) unLeSusSin
A2 413

B.4 2 3 2

C.13 2 4

D.3 1 4 2
Match the following.

a) First Buddhist council - 1) Vaishali

b) Second Buddhist council - 2) Kashmir

c) Third Buddhist council — 3) Rajagriha

d) Fourth Buddhist council — 4) Pataliputra

A2 413

B.4 2 3 2

C.l13 2 4

D.3 1 4 2
33) SpsevorLaummis Fiflwnen samenn CoHIHOS 0.
1) @iGzmaiflest @oiinE U@ Qustflul Gurs
CuhasHu LEGH woHmb HpsssHu LGS et
@uesorLns Liflbss).

2) GupHasHW LGHeow @GesoTTenenid HlipsasHSIw
UGS SFTHID L& CFIS60T.

A. 1wl @b B. 2 i {ib

C.1&2 D. sigi6yb Qevemev

Choose the correct statement.

1) After the death of Ashoka there is split in
Mauryan empire into eastern and western

part

2) Western part was ruled by Kunala and the
Eastern part was ruled by Dasaratha

A. lonly B. 2 only

C.1&2 D. Neither

Learning Leads To Ruling
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34) Spssevoeupmie Fiflwnestens CaIHOS 0.

1) sevlleipasy GUITFlsT HEMEVBET OGHITT Sh(ELD.

2) sesllepaiflest paev Feor LemLQuBLLley Feor
@ggsTyev LIMERGEHT Qousn] CHMHSHISHSHT.

A 1w (o B. 2wl (hd

C.1&2

Choose the correct statement.
1) The capital of Kanishka's empire was
Mathura
2) During the kanishka'’s expedition to china he
was defeated by Chinese general Pancho
A. lonly B. 2 only
C.1&2 D. Neither

35) 1875 6v LMIDID(EHNEST FemLl 61651 SH6MIOLIEBILI

D. eigleyb @evemev

Bimieflweujssir wimy?
1) NemmeuL_ervd)

2) SietTestlGLIF60TL

3) Qamestfl Spev&ML

4) BlGeuglpm

A 1&2 B. 3&4
C.2&3 D. 2,3&4

Who among the following was founders of the
Theosophical society in 1875?

1) Blavatsky

2) Annie Besant

3) Henry olcott

4) Nivedita

A 1&2 B. 3&4

C. 28&3 D. 2,384

36) gIms56v HMID Cgemeu SpHw @ressi(HId Heieor
@ndwneilsst Q@ CaneiTens S6nms [olY:1:
Geuesst(HID 616018 Fanflwieury wimy?

A. gmegmymd GlomgesTymi

B. allGeusnevtib g1y

C. oet16stiQUIF6TL

D. swnestbg Fygieud)

Who proclaimed Renunciation and service as the
two fold National ideals of modern India?

A. Raja Rammohan Roy
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B. Vivekananda
C. Annie Besant
D. Dayananda Saraswathi

37) 1927 e ey Baflév BLHS SmmhSlTev
sl L5QsMLIfled emswenT (G UMSsesofliiy

Sioneond HlemmGeummiiLiLg)?
A. eongafy B. s6v&55T
C. ubumi D. Q&estenest

In which session of the Indian National Congress
passed a resolution for the Boycott of Simon
Commission in 1927?

A. Lahore

B. Calcutta

C. Bombay

D. Madras

38) 1945 6v 2o @meunesr Gzpemil- eSlwnss
2 | edtLgSemawilest (p&EHW Crnss1d eTedTent?

A. un&levgmett 2 (HeUTSHHSH NS ShST6Y

B. su@gliyeuns Gonssusst sHLILS

C. Q6L 568M60 SITEFMMHISLD 2 (HEUNSHSLD

D. gevgmestrissertlstt @emevorLiL] &S5

What was the objective of the Desai Liaquat Pact of
1945?

A. To support the creation of Pakistan

B. To prevent the communal clashes

C. To the formation of the interim Government
D. To accession of the princely states

39) smfwevemolly sFLLEHeT  (WHeemyuiley
Qan@ssuuLBeten  &EHINSEHeT  FamiSHeneT
CaibosbH&saLD.

1) eTesoT6TOTID

2) &&g Qeusfliun®

3) poU&ems

4) euflun(y

A 1,2&3 B. 2,3&4
C.1,3&4 D.1,23&4

Which among the following elements of liberty are
mentioned in the Preamble?

1) Thought

2) Expression

Learning Leads To Ruling
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3) Belief

4) Worship

A 1,2&3 B. 2,3&4
C.1,3&4 D.123&4

40) Guwnss sSemeveu] SpLHAullest allemeneaysei
G585 &G Qan@EssUULBeTen eunsdlwnkisefley
gifluneug) 615)?

1) wrhev oipHlest QaweoLT(HSHEDT  (FWTES
evevell] 6ot QUITMILILIEL e MISG B meiTemevITLD.

2) rbHlev  FlLLeTMSSH6TT  HEHBMIEISED6T

LIMTEBL6TOD  QFWeLLI(HESEVMD 6T6sTM)  (SpUITES

Femeval] Sinflalls&eorLD.
A 1ol (o B. 2wl (hd
C.1&2 D. s1glayb Qevemnev

Choose the correct statement regarding the
consequences of President’s Rule?
1) President can take up the functions of the
State Government
2) President can declare that the powers of the
state legislature are to be exercised by the

Parliament
A. lonly B. 2 only
C.1&2 D. Neither

4]1) @nHw GrWNsEs Senevaulflsst GeulLSasmyn
eTeunfletT Hevemeu et6o1) (HMUI(HHen6ENS GG TETTT(H
C5iHOSG.

1) Sl eIt Geul Ll

2) e QeulL&amd

3) shanells seoL Qeul LEsb

4) 558 Gubm Qeul LEsmb

A 1,28&3 B. 2,3&4

C.1L,2&4 D.1,23&4
The Indian President’s veto power is combination

1) Pocket veto

2) Absolute veto

3) Suspensive veto
4) Qualified veto
A 1,28&3

C.1,2&4

B.2,3&4
D. 1,23&4
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42) @nHwnaflest Qum(mens Iy
Spiieunflsensuflemeot 24,6501 GHMMILD
QeuefluilBeusg 615,?

A. @nglw flafeu eurkid

B. &) <yGwiné

C. wgHw HlF SevWw&ssHD

D. wsw Qgmflev Flemm HenDESFSHLD

Economic Survey in India is published officially,
every year by the ____.

A. RBI

B. Niti Aayog

C. Ministry of Finance

D. Ministry of Industries

43) @BHw BligedT Fallenwll] (Pewm 6HS

IBML1g65T wn&Hliflenws Q&nesor(h
Sienw&sULL(heiTeng)?
A. selllgjeonb g B. ©1Qwiflssn

C. gepwim D. sevtLm

The Indian federation is based on the pattern of
A. Switzerland

B. USA

C. Russia

. Canada

44) seupns QuNBHS 2 sitenens CHIHOS®H .

A. 36 opoug) nFlwevenioliy FLL S(HEHSWD - HHH

O

B. 13 eug <omflwevenolly FLLE SHHEHSD -
& MeVMH G|

C. 27 sugl SipfwevenioliL] &L H(HSSLD - ewilLILLT
D. 56 opeug Sipdlwevendliy FLL  SH(HSHH0
Si(mevornEgsv LTEs&LD

Choose the incorrectly matched pair.

A. 36" Amendment Act — Sikkim

B. 13" Amendment Act — Nagaland

C. 27" Amendment Act — Manipur

D. 56" Amendment Act — Arunachal Pradesh

45) Spsseviaummiet Qansg 2 flenwullenes
SigliuenL 2 flemwulledlpbg FLLLLjou 2 flenowns
wrHrflw Srfwevenolilg sLLESS[HSSD 615)?
Learning Leads To Ruling
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A. 42-6ug) L LES(BSSD - 1976

B. 43-6ugy 5L S(55D - 1977

C. 44-eug) 5 L5 S (55 - 1978

D. 46-eug) 5L 5 &Sz - 1982

Which constitutional Amendment Act removed
Right to Property from Fundamental Right and
made it a Legal Right?

A. 42" Amendment Act - 1976

B. 43" Amendment Act — 1977

C. 44™ Amendment Act — 1978
D. 46™ Amendment Act — 1982

46) seupns QUN(BHE 2 6enens CHIHOS (-
A. Lpdlpmegm — Q& Eps

B. (mgiumesoTigwl — Fleusniens

C. Gaugnisaoll — &lmeunmigary

D. Gamumev Brwss) — SHlevoT(h&ee0

Find out incorrect pair.

A. Pazhassi Raja — Gingee

B. Maruthu Pandiyar — Sivaganga

C. Velu Thambi — Travancore
D. Gopal Nayak — Dindugal

47) SpssevLeummiem HHULT (GresT uMlw
Fflunest sapenm CHIHOSH -

1) @euy @6v DBSM 1904.

2) @eurflett @uIH@UIWIT (GLoMTETLo)

3)@ev 1932 Ul.eteiv. BT Hemevemouiley BLIHS
26MjeuevSSHetTELING|  HTeUevglenmWITed  SMSH&ILUL (D
2 Uy BSS.

4)@6v L&HW sTE Qeulflett Hlemestemeu 2004
Gummb suensuiled iEhF6L SHemev GleusflullLg.

A 1,28&3 B. 2,3&4

C.1,3&4 D.1,2,3&4
Choose the correct statement regarding Tiruppur
Kumaran.

1) He wasborn in 1904

2) His birth name was Kumarasamy

3) He was died after police attack in the march

led by P.S.Sundaram in 1932

4) Union Government released a stamp to
commemorate him in 2004

Page 9 of 19



http://www.winmeen.com/

Group 4 GS Model Test

A 1,28&3 B. 2,3&4
C.1,3&4 D. 1,2,3&4
48) QuNB55)s.

a) 6855 (1906) — 1) srsmuni meyGrmel)
b) eibfleorij (1919) - 2) U.N.Sui

c) & (1931) — 3) Gunlevmev Gh(H

d) opeuie (1955) — 4) susveouimiis LIGL6Y
A2 4 31

B.1 3 4 2

cC.312 3

D.4 2 1 3
Match the following.

a) Calcutta (1906) — 1) Dadabhai Naoroji
b) Amristar (1919) — 2) U.N.Dhebar

c) Karachi (1931) — 3) Motilal Nehru
d) Avadi (1955) — 4) Vallabhai Patel

A2 4 31
B.1 3 4 2
C.312 3
D.4 21 3

49) Geueuev FHLD QHILHUNeTT HLPEE6v0TL
aunsflwnsEnb Fflunsrensg Coibos®H.

1) @g1 1945 @ev Geuerflufl L L g.

2) @8] 26053 SILLLID 6T65T MIPSSLILILL G

A 1ol @w

B. 2wl (B

C.1&2

D. eigi6yb §evemev

Choose the correct statement regarding Wavell

Plan.
1) It was proposed in 1945
2) It was known as Breakdown plan

A. lonly B. 2 only
C.1&2 D. Neither

50) seupns QunphH 2 stenens CxiHOSEH.

A. HirOmevGeusl Hevsd - 1908

B. usuerm opemevd @gmglevmemy GumymiL - 1918
C. QgettesfibHw seva - 1801

D. wmrderm sevsd - 1921

Choose the incorrect pair.
Learning Leads To Ruling
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Tirunelveli uprising — 1908

The coral mill strike — 1918

South Indian Rebellion — 1801

D. Moplah Revolt — 1921

51) aL&HeflBHg QFHans Uleseaupn Wwenevs

owp

@z nLjsenen auflensliu(b55)5.
1) &my@smyid
2) 97 un@pgmev
3) oy r6usve)
4) gngLnm
A. 1-2-3-4
B. 2-1-3-4
C. 3-2-1-4
D. 1-2-4-3
Arrange the following ranges from North to South.
1) Karakoram
2) Pirpanjal
3) Aravalli
4) Satpura
A. 1-2-3-4
B. 2-1-3-4
C. 3-2-1-4
D. 1-2-4-3
52) seumnestens CaiHOSH.
1) upenownest GeuemesslenL (PN  NHHS
en@UMID &Th&srlsy UssrubmUiLhSmg!.

2) uipemwinest GeuemessTenid HFMD MHlevSHSl6v

Qun(p eTesTmI SHeOPS&HSLIL(HSIMS.
A. 1ol (b B. 2 b (hid
C.1&2 D. sigieyb Gsvenev

Choose the incorrect statement.
1) Primitive agriculture is practiced in the
forest areas where heavy rainfall occurs
2) Primitive agriculture in Assam state is called

as Podu
A. lonly B. 2only
C.1&2 D. Neither
53) Qunmsg)s.
b Ly ER

a) unlyd - GuestdFLl
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b) BILST - BASGHEI 6T FN&HIT
c) H(meipeseim - QB
d) sn@uwnsy - gjsny &@meur

A2 3 1 4

B.1 2 4 3

C.3 4 2 1

D.4 1 3 2

Match the following.
Rivers Dam

a) Bhagirathi - Panchat

b) Narmada - Nagarjuna sagar
c¢) Krishna - Tehri

d) Damodar - Sardar Sarovar

A2 3 1 4
B.1 2 4 3
C.3 4 2 1
D4 1 3 2

54) SipsesrLaupmie Fflwnest sapenm CaIHOSH.
1) 2606t 15 HEstTL WeEsETEL HLMHSHEMT HEWSHE
w&SW Brhserflev 2 6iteng).
2) sLH&OTEOW HHMIEVID D6SHT LpUEn6UsHSHe0me0
BleosGsMHOL

GamhmieilssliL(Hd LDEBBTH &H6W]

eTeoTILI(H &G

3) (BMISBELTETT  DETBTEL  (HESTMISHENT @&sL
steoTLILI(HSIMG).

4) Veong snbdHly eulpel LO6SINEG6TNISET LIFsMTesT
steoTLILI(HSIM &I

A 1,2&3

B. 2,3&4

C.1,3&4

D. 1,23&4
Choose the correct statement.

1) World's longest beach is in United states of

America

2) Abeach is sand deposition along the coast

3) Narrow ridges of sand cover is called as seif

4) Crescent shaped dunes are called as Barchan
A 1,2&3

B. 2,3&4

C.1,3&4

D. 1,23&4

Learning Leads To Ruling
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55) SipsaevtLaummien Heundlssev GMSs Fiflwnest
sapeom CoIHOSE.

1) saunflssed clpeuld  HeursHHlest 2607  eTemL
(GEgInEl:R

2) &6Und 5568601 Gung) ET&560T6m LI
eeflempwns@n Qoo Ceudlallemestas  HMID
QeflaCaisemauilest GUNE) F&&HEnTMW 2 (HEUMEELD

2 uflj Geudlallensuraeir opdHlwieneu GLIBHLLIMsYID 6@y

rgliflwimesteme.
A 1w (o B. 2w (h1b
C.1&2 D. e1g16)1D @6vemen
Choose the correct statement regarding
respiration.
1) Respiration results in loss of dry weight in
plants

2) The intermediate chemical reactions in the
breakdown of sugar in respiration and
synthesis of sugar in photosynthesis of
sugar in photosynthesis are much the same

A. lonly B. 2 only

C.1&2 D. Neither

56) emwlGLnsnessriflun  wHmd  WBlwnHev

S &6vvIL 61560 @6v6m6v?

A. Beoliugeme Lnd B. ugeng und

C. Hlauliyls umd D. uouiy uné

Mitochondria and meiosis are absentin ____.

A. Blue green algae

B. Green algae

C. Redalgae

D. Brown algae

57) Qsev Uiflmsuiles Qsev L@ e1Gung)

2 (Heundlmg)?

A. s1eemmBueiv B. engl GLmem&60fl 60

C. QL LmBuerv D. 1@eumBuerv

In a cell division cell plate is formed during ____.
A. Anaphase

B. Cytokinesis

C. Metaphase

D. Telophase
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58) mieoy s (emmuiley HLIUISGSILGD FHTE)

61517
A. &GrmemwL B. emLemLsv
C. &6Sevtm D. GunGestmenaL_

The ore concentrated by froth flotation process is

A. Chromite
B. Rutile

C. Galena

. Monagzite

59) QU555

a) U&emL &6v[bHS EhasT — 1) Hmsly smuGesti

O

b) Qeuerfliy EpasT — 2) Hleveur FHBsmmeniy(H

¢) Geuesstenio — 3) GBermmiflest

d) ugeng — 4) Aeveuy UBTTemL(H
A2 3 1 2
B.12 3 4
C.41 3 2
D.3 4 21
Match the following.

a) Greenish yellow — 1) Copper carbonate
b) Pale yellow — 2) Silver chloride

c) White — 3) Chlorine

d) Green - 4) Silver bromide

A2 3 1 2
B.1 2 3 4
C4 1 3 2
D.3 4 21

60) usPCUDHY QPengs Seneveh 2Synemflwmy
umbns] LI6L6VEUIT&6MTS)]
GILIIGHDg?

A. e Hlwresoensy HevGlaul(h

191:%: &evGlal(H

B. 2 557G wepT &H6vGeul(H

C. wmwesstBF H6LG6UL(h

D. wGBapHTeury sevGeul (h

The pallava inscription at ____ refers to a great
musician Rudracharya.

A. Kudumian malai inscription

B. Utheramerur inscription
C. Mamandur inscription

Learning Leads To Ruling
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D. Mahendravadi inscription

61. In aright triangular ground , the sides adjacent
to the right angle are 50 m and 80 m. find the cost
of cementing the ground at Rs. 5/ sq.m

a. Rs. 20000 b. Rs. 15000

c. Rs. 10000 d. Rs. 12500

Qb aflememun_(HSHL6v QFkIGaTessT (&GS TETUID
augeailev 26iteng). CEFBRICHTTIHMSS SHNThIGLD
usshseT 505, 8015 fLeflev HACwesv Ls F5I7

BLLHSE em. 5 aipd @b Qwrss GFvenas

SIT6UUT.
a. Rs. 20000 b. Rs. 15000
c. Rs. 10000 d. Rs. 12500

62. The average of 5 number is 180. If one of the
numbers is removed then the average becomes
155. Find the removed number?

a. 240 b. 280

c. 320 d. 360

5 erevorserflev gnnaifl 180 Sieumnfley (m eTetuTencvor
Badflesnev sgnafl 155 eteor wMMIHMG erevflev
B&SLILILL 6160516060018 SIT6ToIS.

a. 240 b. 280

c. 320 d. 360

63. A person crosses 600 m long street in 5 minute.
What is his speed in km per hour.

a.3.6 b.7.2
c.84 d.10

Qm muj 600 15 Henpsiten @ QFHHemeu 5
Hdl_rseflev sL&HmmT eresllev Sieuiflett Gousdens
&.15/ wessflufley sam.

a.3.6 b.7.2
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c.84 d.10

17

64. A man travelled ﬁ of his journey by coach, = by

rail and walked the remaining 1 km. how far did he

go?
a.22km b.20 km
c.33km d. 27 km

QUHEUT S6v18] LIWewsT HMSHSle0 ﬁ uiens Congs:

suevoTiguiley|id % utiiens puilev  eustuTguileyID.,

Bgueiter 1 HGevmbLLeny BLBHSID SLESDMT
etevflev LiwiesoT HMMYID 6T6dTEDT?

a.22km b.20 km

c.33km d. 27 km
65. A ramp for unloading a moving truck has an
angle of elevation of 30°. If the top of the ramp is

0.9 m above the ground level then find the length

of the ramp.
a.2m b.1.5m
c.1.8m d.1.6m

@@ & ajhlulefiphg Senwenw Qs
ergleuns 30° gmmé CamewnidHled @h smileys Seb
2 6iteng)l. EMile] HensSletr 2 &8 senquiledlpibg 0.9

15 2 WS Hlev 2 6iteng; etevflev, FmileyszengHlesr Hemd

qurg,j?
a.2m b.15m
c.1.8m d.16m

66. The standard deviation of 10 values is 3. If each
value in increase by 4. Find the variance of the
new set of value.

a. 30 b.12

c.9 d.v3

Learning Leads To Ruling
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10 wHuyseflesr S efllevssd 3. QeuGeun(m
wHUYLeID 495 Fall HleLsEw LyHw S
aflevs a5 Hetr aflevss aufgs gynaifl wng)?

a.30 b.12

c.9 d.v3

67. Find the next term of this sequence 11, 13,17, 19,
23

a.25 b. 27

c.29 d.31

11, 13, 17, 19, 23, ___ ettty QanLij eurflenguilév
21658 L 2 MY a51?

a.25 b. 27

c.29 d.31

68. Find the mean of 2, 4, 6, 8, 10, 12, 14, 16.

a. 10 b.9

c.12 d.14

ol (pEaqnafl snesvtay. 2, 4, 6, 8, 10, 12, 14, 16.

a. 10 b.9

c.12 d.14

69. Shyam's monthly income is Rs. 12000. He saves
Rs. 1200. Find the percent of his savings and his
expenditure.
a.10%, 80%
c.80%, 10%

b. 10%, 90%
d. 90%, 10%

aflwmblest M5 euHwmed (B 12,000. Seury
Gzulls@ Qzmens em. 1200. eurflest Gaudliiy,
Q&Fevey SpHweumletT 5561556055 HM6EsI5.

a. 10%, 80% b. 10%, 90%

c. 80%, 10% d. 90%, 10%
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70. Due to increase of 30% in the price of a colour
TV the sale is reduced by 40%. What will be the
percentage change in income?

a.10% increase b. 10% decrease
c. 35% decrease d. 22% decrease

QR eucttiers  QEmemevdaMLHl  @Quiigufledr
aflemevuflev 30% flsflssmed 40% eallHLenest
GODHSS) eT6sflev aueunuiley eHLBD WMHMHSENS
56555160 Fam!.
a.10% sidlsifluy b. 10% @evmey
c. 35% @svmey d. 22% &emmey

71. Find the least number which when divided by
24, 32 and 36 leaves the remainders 19, 27 and 31

respectively.
a. 280 b. 290
c.283 d. 300

@ elevurencvor 24, 32 wWHMID 36 DL 6UGEHGLD
Gungy wemmGuw 19, 27 wiHmib 31 etebruest WHwns
EeILSHHM6V SI[HG 6T6LTECTIS: SITETOT.

a. 280 b. 290

c. 283 d. 300

72.1f LCM of “a” and “b” is aand LCM of “b” and “c”
is b, then what is the LCM of “c” and “a".

a.a b.b

c.c d. abc

a whmb b —eb7 15,QUIM.IDLIEIE a eTesteyd b wHMID ¢
—65T 15.QIUM.LIEIE b eTevtayd @S Mev C HmID a
601 15. QIO 6T6DTEDT?

a.a b.b

c.c d. abc

Learning Leads To Ruling
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73. Which one is correct?

a 3<—13<—15<—1<1
-1 40 80 20 2
3 -1 -13 -15 1
b.—s<—=<—<—<=
5 20 40 80 2

15 -13 - -3 1
C——<—<=—<—<:
80 40 20 5 2

1 3 1 -13 -15

x2-25  (x+5)2

74. Simplifym :

x%2-9
a (x—5)(x+3) (x-5)(x-3)
T (x-3) " (x+5)
(x—5)(x+3) (x—5)(x+3)
(x+3) " (x-5)
. x2-25  (x+5)2
M iy
a (x—=5)(x+3) (x-5)(x-3)
T (x-3) " (x+5)
(x=5)(x+3) d (x—5)(x+3)
(x+3)  (x-5)
. o 2 1.2\ 5
75. Simplify P {(Z + 5) - g}
a. == b. £
125 160
c. 22 d.2
168 125
1 2 5
swses. ;- {(;+3) -3
a. == b. £
125 160
c. 22 4.2
168 125

76. The exterior angles of a pentagon are in the
ratio 6:3:4:3:2. Find all its interior angles.

a. 60°,120% 80°,160°, 120°

b. 80% 110°, 150°, 120°, 80°

c.100° 1709 160°, 40°, 70°

d. 60°, 120°, 100°, 120°, 140°
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Qb BEICsNeISHSHletr CeuaflsEGamewmsiser 6:3: 4 :
3 : 2 etetim eflflpHHlev 26itenment er6vfled  BiFH6tT
2 I G5 mevoTriu&61fl65T 16116 5 6061TS SHM6TOTS.

a. 60°, 120% 80°, 160°, 120°

b. 80°,110°, 150°, 120°, 80°

c.100°170° 160°, 40°, 70°

d. 60°,120°, 100°,120°, 140°

77. Which one of the following cannot be the sides

of a triangle?
a.4,5,6 b.3,4,5
c.2,34 d.123

Wetteu(peucsteummieit  etemeu (& CamnevursSlett

USSEIGENNS Q(HE:E (LPIpWwing|?

a.4,5,6 b.3,4,5

c.234 d.1,23

78. Without wusing logarithm table find
approximate value for logio 2.

a. 0.2401 b.0.3

c. 0.3802 d. 1414

IDL&605 L L auenesolenilLl LiwesTL(HSSmoed 10g: 2
61 GzmMymw HILIL SN6ToTS:.

a. 0.2401 b.0.3

c. 0.3802 d. 1414

79. The cost of leveling and turfing a square lawn
at Rs. 2.50 per m? is Rs. 13322.50. Find the cost of
fencing if at Rs. 5 per metre.

a. Rs. 1500 b. Rs. 1380

c.Rs. 1225 d. Rs. 1460

R FHIT6Ugal QUWENEY LD6TIT iiwsHgl FUUGBSS
g5y BLLES em. 250 eisb em. 13322.50

Qzevaundimg). eeoflev Bs awelHE@ Geusll

Learning Leads To Ruling
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&S WLL(HEE em. 5 iz eeusuene QFeve

DbG0?
a.Rs. 1500 b. Rs. 1380
c.Rs. 1225 d. Rs. 1460

80. The diameter of a semicircular grass plot is 70

m. find the cost of fencing the plot at Rs. 12 per

metre.
a.Rs. 7700 b. Rs. 840
c. Rs. 2160 d. Rs. 4320

SlenraulL auigailevmest LevGleuerfl ettilest efl_Lib 7
15. S15MEGE &HM Ceuell SieES QI BLL(IHEE
em. 12 elis1b etetTent QFeveuN(GLD?

a.Rs. 7700 b. Rs. 840

c. Rs. 2160

8l. 2 SLeUG 2608 UTEHHFS S IHelpT
HEOLQLIMILD HS&TLD 6THI?

[A] &smetTLLIT [Bl 2_sWiLLy

[Cl Br&LLT [D] gzrmedTéR

Which city is the venue of the 2nd World Orange
Festival (WOF-2019)?

d. Rs. 4320

[A] Kanpur [B] Udaipur

[C] Nagpur [D] Jhansi

82. 2 AT WHL LWellg 2 flennger
QBTMVEHSTLF CFemeu
QS TLBISLILL(HETET [T 6T51?

[A] Blw,wimyss [B] 6600 L_60T

[C] QuTeSleT [D] urifleiv

The world’s first human rights TV channel has
been launched in which of the following cities?

[A] New York [B] London

[C] Berlin [D] Paris

83. 1. LuGuIT (Diffo) LITeLLD, 6TTHE LOMBl6VS B 6L
S| 6MLOH S16T6ITS1?

[Al 4 BETUETCHEID

[B] ojevormEsFeulILNFESH&FID
[Cl anflomEFFeuINTCS & 1D
D] 2 6570NTGsH&ID
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Diffo Bridge, which is in news recently, is located
in which of the following states?

[A] Andhra Pradesh

[B] Arunachal Pradesh

[C] Himachal Pradesh

[D] Uttar Pradesh

84. o AfluisEpssTer  @)\HS Wimelledr
Ws6v PolicyHack 3 Q& ITLMHIG W eTerr
151 MI6U6OTLD 6TSI?

[A] @eTGUITS 6V [B] @L6V (Dell)

[C] flemevwistTev [D] NG

Which company has launched India's first
PolicyHack for Teachers?

[A] Infosys [B] Dell

[C] Reliance [D] Wipro

85. 2019 9D S,600TIQMEITEOT LOITIT L LY 60T
eTeiTeoTeL6eNV  D6ofls 2 iflemwnger  Uflens
QeueTMEUF WImry?

[A] am&F 6T FGeLAM

[B] 9118160 91T 6NV (LN&HLDG!

[C] QuTamErme L, & &meof]

[D] A gevL 6L Hammel

Who is the recipient of the 2019 Martin Ennals
human rights prize?

[A] Hassan Saleh

[B] Abdul Aziz Muhamat

[C] Behrouz Boochani

[D] Miral al-Tahawy

86. simplicity and wisdom eredoTm BMES60T
Al wmy?

[Al 85 sulley

[B] @& 051D QD6TS

[C] D GevT6lq FOMTTT

[D] ;e &+ L1L9 7 Lo evof 1 6ot

Who is the author of the book ‘Simplicity &
Wisdom'?

[A] Jeet Thayil [B] Ahmed Mourad

[C] Dinesh Shahra [D] Ravi Subramanian

87. FfLSH L QFWH &erflev smevorLILIBILD
“Peuliy ueuem &K1" [Red Coral Kukri]
oerFeueT auemn & UN6L 6THS LN flemeu Fm(HLO?
[A] &p60010 [B] by

[C] Lievel [D] W& em6v
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Red Coral Kukri, sometimes seen in news, is
related to which class of reptiles?

[A] Turtles [B] Snakes

[C] Lizards [D] Crocodilians

88. FISLSH O @MmbHS LMiflév 19 LOM6oTLY
(Darryl D'Monte) eThg Sleovmuiley ensS
31,EHEMLD 2_6T6meuy?

[A]l QWS SsIemm  [B] allemerwimL ()

[C] sydledlwiev [D] &L LD

Darryl D'Monte, who passed away recently, was
the veteran personality in which field?

[A] Journalism [B] Sports

[C] Science [D] Law

89. FISLISH6L 2020 CLIGHCWT edllDLIE
cumLigseflev  GgTeumeor @Fumesr KT
L9 6dTeu (HLD THS GUIITL. LY. &5 €15 L 60T
QS TLTLj6mLW6U?

[A]l LEb ar&G@sev  [B] @l L LILBSUID

[C] mevw 551D [D] &5 318 & 6voTenL

Irfan KT, who recently qualified for 2020 Tokyo
Olympics, is associated with which sports?

[A] Weightlifting [B] Racing

[C] Wrestling [D] Boxing

90. FIfLISH 6L Lelulwev GMIui® (GI Tag)
QUMM Fals rmllsm &L (Coorg Arabica
Coffee), &IBIL&EMaNlL 2 6TeT  6HS

MU LSS 6L eMuuns
UeTI&SUILOSHMmSI?

[A] QUeELSTLD [B] & 10880mTy

CleLs [D] ums6LEsTL

Coorg Arabica Coffee, which recently got GI tag, is
grown specifically in which district of Karnataka?
[A] Belgaum [B] Chikmagalur

[C] Kodagu [D] Bagalkot

9. eThHhs @QBHHWIHEE, CuUlLl Sjumw
Gl mameor  BLLUUMeTH ©R&S&W
15 T(®H) & 6T FESTEUIT (B SI
6ULPMHISLILIL (H 6TermgI?

[A] 2188l GO G meuey

[B] P K Wilervm

[Cl BlGEUBST Wlevrm

[D] & 6001 T6L FleiTRMIT

Page 16 of 19



http://www.winmeen.com/

Group 4 GS Model Test

Which Indian personality has been awarded the
UN Sasakawa Award 2019 for Disaster Risk
Reduction?

[A] Ajit Kumar Doval

[B] Kunal Sinha

[C] P K Mishra

[D] Nripendra Mishra

92. mLUUMeTH 2.6v8 Iemeillgwev
&) 6075 81 & 8 T6UT & (IH LG\ LIT(IH6IT 6T60T60T?

[A] The International System of Units - Light

[B] The International System of Units - Commerce
[C] The International System of Units - Transport
[D] The International System of Units -
Fundamentally better

What is the theme of the 2019 edition of World
Metrology Day?

[A] The International System of Units — Light

[B] The International System of Units — Commerce
[C] The International System of Units — Transport
[D] The International System of Units -
Fundamentally better

93. Sleoreorem LIevoTLl  LITfl6UIT S S 60 60T S 6T
G&Mss Msaosaomw  IjevoTenoulley
@QbrHw flFjeu aumSNWILL FLTUNSS
&S eraI?

[A] RGeq T F6iTH G

[B] BB&60T BIGeu&sell &L

[CIHR &mer @&

[D] S|@®6worT FHLOM G

Which committee has recently submitted report
on digital payments to RBI?

[A] Kishore Sansi committee

[B] Nandan Nilekani committee

[C] H R Khan committee

[D] Aruna Sharma committee

94. ISRO SLLlomeor FhHGFwimeor — II @) eor
WL Quevor HLL @QuwEGHT (Project
Director) wimy?

[A]l f581 &g mey

[B] Gym&evof] &mL_GLImev

[C]l WSS WIT aueflgm

[D] &:&60TS L1 &ITHI
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Who is the first woman Project Director in an ISRO
mission of Chandrayaan — II?

[A] Ritu Karidhal

[B] Rohini Godbole

[C] Muthayya Vanitha

[D] Gagandeep Kang

95. @Queofl LMeuld (Feni Bridge), L9letreu(mpLd
6TIH S LOITIBl6UIEI G EH6IT 3|60ILOH S 6ITeTSI?

[A] LM @ eumIGSLD

Bl @&

[CleFygT

[D] @4 bSTILNTCSH& D

Feni Bridge is located in which of the following
states?

[A] West Bengal [B] Odisha

[C] Tripura [D] Andhra Pradesh

96. TH5 5 CxH ulley, LW M&s
2 flemwnser Hleorid  (Autistic Pride Day)
sl ssLUIUGSMSI?

[A] ez@etr 17 [B] e5©@6tT 16

[C] &g©® 60T 18 [D] eg®601 20

On which date, the 2019 edition of Autistic Pride
Day is observed?

[A] June 18 [B] June 17

[C] June 19 [D] June 16

97. Hss GCaHBUNe, 226va: BYSS
S MIFemel 2_cvorelil L 6L g
Sl 9N955ULGHMmS?

[A] &2©etT 16 [B] &z©®etr 19

[C] ez© et 18 [D] eg®etr 17

On which date, the 2019 edition of World
Sustainable Gastronomy Day is observed recently?
[A] June 19 [B] June 20

[C] June 18 [D] June 21

98. FIOLIGH) 6L LDEMMIHS LTHLIT Fleu GO,
bz SiMeflweér siemmuileadr LsLAUMHMD
61l €h (eh T6vT] DLEUTIT?

[A] Lwimeved) [B] e¥levor Q6161

[C] GeuEwicv [D] s56v0f1 551D

Dr SK Shivakumar, who passed away recently, was
the renowned scientist in which field?

[A] Biology [B] Space

[C] Chemical [D] Mathematics
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99. FUOLSHW QFUTH &6l MwLILL
ol Reflulleoriomeor  kakapo @erflseir
THHTL 60L& C&FIIHSHem6U?

[Al WL BTiD [Bl@b& Wi
[Clmlwedleurnbas D] Suenv&Gredlwim

Rare Kakapo parrots, sometimes seen in news, are
found in which of the following countries?

[A] Vietnam [B] India

[C] New Zealand [D] Australia
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100. ®geu eaugeu EH5CHeT FLOLIGSTH6L
&flws CIQINT- S THS
Slemeuors: Gasmerfl6L

SeoT(H Y& &LILL LG MHESERMSI?

[A] L_rflLLeor [B] emyL_L_L_60T

[C] &e01GIDL [D] &60l6r0L_GBLIT

Liquid methane has recently spotted on which
satellite in the solar system?

[A] Triton [B] Titan

[C] Ganymede [D] Callisto
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Group 4 VAO General Studies Model Test 19 — Answer Key

1) D |21) | A |4) | A |[e6) | c |8) | C
2) D |22 | B |42 | c |62 | B | 82) | B
3) C | 23)| D |43 | D [63) | B | 83) | B
49 | B | 29| D |49 | D |64 | A |81 | B
5) c | 25)| ¢c |45 | c [65 | Cc | 8) | B
6) | A | 26) | B |46) | A |66) | C | 8) | C
7) c |2n | A |4n | D |[e6n | c | 87| B
8) D |28) | B |48 | B |68 | B | 88 | A
9) B |29)| ¢ |49 | c [69) | B | 89) | B
100 | A [3)| D |5)| B |7)0| D |90)]| C
1) | D | 3) | ¢ |5) | A | 7)| c |9)| B
12) | B |32 | A [5)| B | 72| A |92 | D
13) | B [3)| c [53)| c | 73| A |93 | B
14 | A [ 34| A |59 | D | 79| B |94 | C
155 | ¢c [3) | c [ | c | 75| c |9 | C
16) | A | 3) | B [5) | A |7) | D |9) | C
1) | D |3 | D |50 | B | ™| D |97 | C
18 | D |3 | ¢ [58 | ¢ |78 | B | 98 | B
199 | ¢ [3) | D |5) | D |79 | D |99 | C
20) | A |40 | ¢ |[60) | A [80) | c |1000| B
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